Week 13
Friday 19thJune 2020
Year 6- Problem solving
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Reasoning and Problem Solving — Mental Calculations

Ta. Give 2 different ways of mentally
calculating the following:

1255

& .

1b. Give 2 different ways of mentally
calculating the following:

| 3203

% .

2a. Sinead and Gabriel are solving the
calculation 50 x 20.

1did5x2 =10, then x my
answer by 100. My answer is
1,000

<

2b. Ben and Isabel are solving the
calculation 25 x 30.

~

1did 25 x 3 =75, then x 10.
My answer is 750.
Ben

Tadded my answers together.

;N
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My answer is 600.

added them together. My

P
u.dzs,(m...zs,o....ﬂ
answer s 75,

Leabel

Who is correct? Explain how you know.
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Who is correct? Explain how you know.

& "

3a. Josh is estimating the cost of 3
items.

3b. Kelly is estimating the cost of 3
items.

Magazine = £4.99, Football =
£10.99, Sweets = £3.99

Book = £7.99, Notepad = £5.99,
Pencil case = £4.99

Which calculation would give him the
best estimation? Explain why.

a 4+45+11

b 4+10+3

% .

Which calculation would give her the
best estimation? Explain why.

84645

b 10+5+5
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Reasoning and Problem Solving — Mental Calculations

4a. Give 3 different ways of mentally
calculating the following

¥ n

4b. Give 3 different ways of mentally
calculating the following

| a0am
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Sa. Steph and Sheldon are solving the,
calculation 125 x 4 x 12.

Tdid 125 x 4 = 500, then 500

10, then added 1,000. My
SR

5b. Hannah and Lucas are solving the

calculation 108 x 5 x 15.
N
e
540. Then 540 x 10, then x 5.

My answer is 27,000. B

Hannah

by 10, then by 2. My answer

answer is 6,000,
1did 125 x 4 =500 then I x
is 10,000

=N

| Then540 % 10 and 540 x5
5 ™ and added both to get 8,100.

Lucas

P
108 x 10, then = 2 = 540. W

Who is correct? Explain how you know.

v e

Who is correct? Explain how you know.

w ‘s

6a. Hafsa is estimating the cost of 3
items.

6b. Chuan is estimating the cost of 3
items.

Game = £19.99, Headset = £37.99,
Controller = £34.99

Jeans = £36.99, Shoes = £29.99,
Shirt = £24.99

Which calculation would give her the
best estimation? Explain why.

a 20+40+30
b 20+38+35

v e

Which calculation would give him the
best estimation? Explain why.

:
b 37430425
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Reasoning and Problem Solving — Mental Calculations

7a. Give 3 different ways of mentally
calculating the following

1,025 x5 x 12
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7b. Give 3 different ways of mentally
calculating the following:

| 120001001
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8a. Sean and Alice are solving the
caleulation 225 x 4 x 12.

1did 225 x2x 2. Then 1
mltiplied by 10, then by 2

Sean.

8b. Josh and Chuan are solving the
calculation 450 x 8 x 25.

N

1did 8 x 25 = 200, then 450 x

2.x 100. My answer is 90,000.
ok

225 x 4 =900 then 900 x 10

Who is correct? Explain how you know.

& "
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| ten3i600x20- 7200,
e N
.

then x 5. My answer is
360,000,
Who is correct? Explain how you know.

9a. Ben is estimating the cost of 3
items.

b, Isabel is estimating the cost of 3,
items.

Games Console = £259.99,
Game = £29.99, Controller = £54.99)

DVD Player = £56.99, TV =
£429.99, HDMI Cable = £14.99

Which calculation would give him the
best estimation? Explain wi

a| 260430455

b| 260430450

& .

Which calculation would give him the
best estimation? Explain why.

a| 60+430+10
b| 57+430+15
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